
Core chassis only
or with

Team PRP DUO shock towers

Chassis conversion for the Team Losi LMT RTR, Roller, or TLR 
Tuned trucks.  Single motor, lower center of gravity 2S shorty side 
mounted battery and fore or aft weight bias tuning with motor and 
electronics position options.

Goblin UNUM LMT Conversion kit



1

2

Goblin Unum LMT Conversion kit

Gearbox Housing preperation.  Due to the gearbox housing rotated further forward or backward
on the Goblin Unum you must mod the housing to fit over the center gearbox diff housing / skid plate.

Install Gearbox Housing to right side chassis plate.
Choose fore or aft motor weight bias position.

Use a flush cutter or your
preferred method to trim
away this material and then
check for clearance on the
center differential housing/
skid plate.

Alternatively you may
choose to trim the diff
housing/skid instead.

01

M2.5x10mm
Flat Head

M2.5x10mm
Cap Head x2

M2.5x10 FH

LOS242032

M2.5x10 CH x2



Spacers can be changed or
removed when using longer motors

Attach the included 66mm black standoff and the stock
Losi LMT cross braces or aftermarket cross braces to
the battery side chassis plate.

Assemble battery
retaining system.3

4

02

Locknuts

M3x18mm CH

M3x18mm CH 18mm Standoff

Spacers can be used here to bump
battery strap out when using longer
motors or whenever more space is
required inside the chassis.  Longer
screws may be required depending
on your final setup.

18mm Standoff

Locknut

M3x18mm CH

M3x14mm CH

M3x10mm

M3x66mm Standoff

M3x10mm CH x3

M3 Washer x3

M2.5x10mm CH x3

M3x10mm CH

M2.5 Cap Head screws were chosen due to their larger 2mm socket driver.

M3x10mm
Cap Head x4

M3 Washer
x3

M2.5x10mm
Cap Head x3

M3x10mm
Cap Head x1

M3x14mm
Cap Head x1

M3x18mm 
Cap Head x3

M3x5mm
Spacer x4

18mm Standoff
x2

M3
Locknut x3

Goblin Unum LMT Conversion kit



5

6

Goblin Unum LMT Conversion kit

Gearbox Housing installation

1

1

2

2

Install battery side plate into Gearbox Housing / 
skid plate and attach lower battery support.

03

M2.5x10mm
Cap Head x3

M3x10mm
Cap Head x4

M3x18mm
Cap Head x2

M3 Washer
x3

M3x16mm
Flat Head x2

M3x16 FH x2

LOS242032

M3x18 CH x2

M3x10 CH x3

M3x10 CH
M2.5x10 CH x3

M3 Washer x3

Make sure the LMT Hardware is already installed in the gear
housing cap.  See steps D2 and D3 in the Losi TLR Tuned LMT Manual.



7

8

Goblin Unum LMT Conversion kit

Electronics Tray assembly

1 Push mounts onto tray
then place into chassis.

2

Install battery strap

04

M3x16mm
Set Screw x2Thumbnut x2

M2.5x10mm
Cap Head x4

M2.5x10 CH x4

M2.5 Locknut x4

Thumbnut x2

M3x16mm
Set screw x2

The Electronics tray can be raised, rotated fore or
aft and moved to the front or rear of the chassis.
Mounting holes for some Tekin and Spektrum ESCs.

OPTION:  Use M2.5x10mm CH x8 to
mount the LMT Headers LOS41035.



Bonus option:  You can also use Losi 90.5mm 4-link bars from the 
RTR and Roller kits as your upper links if using TLR Tuned long lower 
links!  Or you may also order our Team PRP 90mm Links for your 
bottom links if you’re running a shock to axle short wheelbase truck.

X4

     M4x70mm link for 13.5” 
     RTR wheelbase
 
M4x90mm link for TLR
Tuned/Mega 15” wheelbase

M4x25mm
Set Screw

M4x25mm
Set Screw

9

10

Goblin Unum LMT Conversion kit

Build 4 Upper Links and attach them
to the chassis using stock Losi LMT
Rod Ends.

1

2

Mount your LMT kit shock towers or the
Team PRP Duo shock towers shown here.
Install Sway Bars LOS244006 then install
the shock towers on the other side.

05

M3x12mm
Cap Head x8

M3 Locknut x8

M3x16mm
Cap Head x4

M3 Locknut
x4

M3x16 CH
ATTACH LINKS
ON BOTH SIDES.
X4 LINKS.

M3x16 CH

M3 Locknut

M3 Locknut

M3x12 CH

M3x12 CH

M3x12 CH

M3x12 CH

M3 Locknut

M3 Locknut

M3 Locknut

M3 Locknut

LOS244006

LOS244006



M3x60mm Cross Brace x2

M3x10 CH

M3x10 CH

11

12

Goblin Unum LMT Conversion kit

Attach 60mm cross braces to shock towers.

Install LOS241032 Cross Braces to front and rear of chassis.
If using Team PRP Duo towers you can attach Losi LMT body
posts in either location shown using the body post hardware
from your LMT kit.

06

M3x10mm
Cap Head x8

M3x10mm
Cap Head x4

M3x60mm
Cross Brace x2

LOS241032

x2

M3x10 CH

M3x10 CH M3x10 CH

Body Post mounting hole locations

M3x10 CH

Limit strap tuning holes for
quick and easy droop adjustment.
Limit strap length depends on your
setup.



M3 Washer
x2

M3x8mm
Cap Head x2

Best!

- Ben

55
0 
BL

SE
N
SO
R
ED

55
0 
BL

SE
N
SO
R
ED

Chassis battery cutout

sensor cutout zone sensor cutout zone

13

14

Goblin Unum LMT Conversion kit

Battery Positioning: You can make adjustments to the battery retaining system as required.
Motor Positioning:  Long sensored motors may require the sensor wire to be postioned away
from the battery for optimal clearance.  Motor mount hadware included:

Now simply refer to the Team Losi LMT manual for instructions on how to mount the outer shock
towers, shocks, lower links, axles, etc., to the chassis using the parts and hardware from your Losi LMT
kit and prepare to rip up the track with your new Team PRP Goblin Unum!

Available options
from Team PRP:
Duo Shock Towers
STL Shock Towers
Titan Caster Blocks
Steering Limiters
Titan Steering LinkTitan Steering Link
FS Drag Link
Axle weight Mounts
SOACAPs
Upper Link Braces
Servo Spacer
Visit the shop for
more!more!

07

• Position 550 sensored motors with the sensor plug on the outside of the 
battery in the sensor cutout zones.  Shorter motors generally do not have 
mounting requirments and can be rotated in any position as long as they 
clear your battery.  • The battery can be moved out by changing spacer 
lengths or locations of the retaining system.

If you are installing Team PRP 
option parts please download
their instruction sheets from
our support page:
teamprp.bigcartel.com/support

Thank you for racing with Team PRP.  
The art of R/C!



RE
AR

FR
O
NT

Ey
e 
to
 E
ye

Li
nk
 L
en
gt
h:
   
   
   
   
 m
m

Ey
e 
to
 E
ye

Li
nk
 L
en
gt
h:
   
   
   
   
m
m

Ey
e 
to
 E
ye

Li
nk
 L
en
gt
h:
   
   
   
   
m
m

Ey
e 
to
 E
ye

Li
nk
 L
en
gt
h:
   
   
   
   
 m
m

ST
L 
TO
W
ER
: Y
 / 
N

ST
L 
Sh
oc
k 
Lo
ca
tio
n

Ca
p:

Bl
ad
de
r: 
Y 
/ N

Pr
e 
Lo
ad
:  
   
   
   
m
m

O
il:

Sh
oc
k 
Le
ng
th
:  
   
   
   
 m
m

Pi
st
on
:

Sp
rin
g:

Bu
m
p 
St
op
:  
   
   
 m
m

Ty
pe
:

Ca
p:

Bl
ad
de
r: 
Y 
/ N

Fr
on
t S
ho
ck
s

Re
ar
 S
ho
ck
s

Pr
e 
Lo
ad
:  
   
   
    
 m
m

O
il:

Sh
oc
k 
Le
ng
th
:  
   
   
   
 m
m

Pi
st
on
:

Sp
rin
g:

Bu
m
p 
St
op
:  
   
   
 m
m

Ty
pe
:

Re
ar
 U
pp
er

Li
nk
 L
oc
at
io
n

Fr
on
t U
pp
er

Li
nk
 L
oc
at
io
n

ST
L 
TO
W
ER
:  
Y 
/ N

Sh
oc
k 
Lo
ca
tio
n

Sw
ay
 B
ar

Ty
pe
:

Th
ick
ne
ss
:  
   
   
   
  m
m

Le
ng
th
:  
   
   
   
   
   
 m
m

Sw
ay
 B
ar

Ty
pe
:

Th
ick
ne
ss
:  
   
   
   
  m
m

Le
ng
th
:  
   
   
   
   
   
 m
m

Re
ar
 W
he
el
s:

Ti
re
:

In
se
rt:

Ti
re
 M
od
s:

W
he
el
 M
od
s:

Tr
ac
k 
W
id
th
:

Re
ar
 T
oe
: 
 
 
 
º

Re
ar
 T
oe
: 
 
 
 
º

Fr
on
t W
he
el
s:

Ti
re
:

In
se
rt:

Ti
re
 M
od
s:

W
he
el
 M
od
s:

Tr
ac
k 
W
id
th
:

Fr
on
t T
oe
: 
 
 
 
º 
 
Ca
st
er
:  
 
 
º

Fr
on
t T
oe
: 
 
 
 
º 
 
Ca
st
er
:  
 
 
º

Ru
nn
in
g 
W
ei
gh
t:

W
he
el
ba
se
:

Ri
de
 H
ei
gh
t:

ES
C:

Ba
tte
ry
:

M
ot
or
:

Se
rv
o:
  
  
  
  
  
  
  
 R
x:

Ac
ce
ss
or
ie
s:

El
ec
tro
ni
cs

M
ot
or
 L
oc
at
io
n

Ce
nt
er
 D
iff
 O
il:

Ri
ng
 G
ea
r O
rie
nt
at
io
n:
  F
 / 
R

Re
ar
 D
iff
 O
il:

R
ea
r A
xl
e 
W
ei
gh
ts
:  
   
Y 
/ N

Ty
pe
:

Ad
de
d 
w
ei
gh
t:  
  
  
 

Sh
op
 a
nd
 S
up
po
rt:
  t
ea
m
pr
p.
bi
gc
ar
te
l.c
om

Fr
on
t D
iff
 O
il:

Pi
ni
on
:

ES
C
 L
oc
at
io
n

No
te
s:

G
O
B
L
IN
 U
N
U
M

DU
O
 T
O
W
ER
:  
Y 
/ N

Re
ar
 S
ho
ck
 M
ou
nt
 L
oc
at
io
n
O
th
er
 T
ow
er
s:
 D
ig
ge
r L
M
T 
/ M
eg
a 
LM
T 
/ T
un
ed
 L
M
T 
/ O
th
er
:

DU
O
 T
O
W
ER
:  
Y 
/ N

Fr
on
t S
ho
ck
 M
ou
nt
 L
oc
at
io
n

Li
m
it 
St
ra
p 
Lo
ca
tio
n

Le
ng
th
:  
   
   
   
 m
m

Li
m
it 
St
ra
p 
Lo
ca
tio
n

Le
ng
th
:  
   
   
   
 m
m

DR
IV
ER
:  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
 T
RU
CK
 N
AM
E:
  
  
  
  
  
  
  
  
  
  
  
  
  
BO
DY
:

EV
EN
T:
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
DA
TE
:  
  
  
  
  
  
  
  
  
  
Q
UA
L:
  
  
  
  
 F
IN
IS
H:

TR
AC
K:
   
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
 S
UR
FA
CE
 T
YP
E:
   
  
  
  
  
  
  
 S
iz
e:
 S
m
al
l /
 M
ed
/ L
ar
ge
 / 
Ve
ry
 L
ar
ge

TR
AC
TI
O
N:
 L
ow
 / 
M
ed
 / 
Hi
gh
 / 
Ve
ry
 H
ig
h 
   
   
  
 C
O
ND
IT
IO
N:
 D
ry
 / 
Da
m
p 
/ W
et
 / 
Du
st
y 
/ H
ar
d 
Pa
ck
 / 
Bu
m
py

TE
M
PE
RA
TU
RE
: 
  
  
 º
   
W
EA
TH
ER
:  
  
  
  
  
  
  
  
  
  
  
  
   
  
Sm
oo
th
 / 
Lo
am
y 
/ O
th
er
:

ST
L 
Sh
oc
k 
Lo
ca
tio
n.
  D
ist
an
ce
 fr
om

in
ne
r m
ou
nt
 to
 s
ho
ck
 m
ou
nt
: 
  
  
   
m
m

ST
L 
Sh
oc
k 
Lo
ca
tio
n.
  D
ist
an
ce
 fr
om

in
ne
r m
ou
nt
 to
 s
ho
ck
 m
ou
nt
: 
  
  
   
m
m


